An infinite solenoid with surface current density K is

Whatis ¢ B - dl around this purple (dashed) Amperian oriented along the z-axis. To use Ampere's Law, we i
need to argue what we think B(r) depends on and
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An infinite solenoid with surface current

An infinite solenoid with surface current i\?\:s:)r/el'i :fa(xlfon’:ﬁg felsgi tf:]elazr-?:qlz. 'io‘npaprly /ZL
density K is oriented along the z-axis. Apply z P g gihary -
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Ampere's Law to the rectangular imaginary loop mt:]hi }I;Z(plje sf)woivr(m). Vyvi;izzzl;et%s
loop in the yz plane shown. What does this |~——] assumethat bls = o) = 1. ¥iha
tell you about the B-field outside the K
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D. It tells you nothing about B. D. We still don't know anything about |B|




Which Amperian loop are useful to learn about B(x, y, 2)
somewhere?
What do we expect B(r) to look like for the infinite sheet of
current shown below?
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E. Morethan 1

Gauss' Law for magnetism, V - B = 0 suggests we can
generate a potential for B. What form should the definition
of this potential take (® and A are placeholder scalar and

vector functions, respectively)?

AB=Vd
BB=VXd
CB=V-A
DB=VXA

E. Something else?!



